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JR18Z2 A DFEFES (xa, ¥4, 24 ) & L TCLab,e,d,SHATHLINE I NIEET D E LT 12725,

(i) expAab D4y
oloxa expAab = 0/oxa exp(—sRan2) = exp(—sRan?) * 2sRab * (xa—xb)/ Rab
= exp(—sRar?) * 2 Ixa (for a=A : aAlIZETS )
0loxa expAab = exp(—sRab?) * 28 /Ixa (for b=A : b AIZETD )
(i)_A0sy

0l0xa /1xa =010xA (xp—xa) = 0/0xA (B/p) (xb—Xa) = alp—1
oloxa /Ixn =0/0xa (xp—xb) = 0/0xa (B/p) (xb—Xa) = alp
oloxs /Ixn =0/0xB (xp—xb) = 0/0xB (a/p ) (xb—xa) = Blp—1
0l0xB /Ixa =0/0xB (xp—xa) = 0/0xB (a/p ) (xb—xa) = B/p

(iii)_V o5
oloxa Vxp = 0loxa (xp—Xs) ={ alp for s£A
al/p—1 for s=A

oloxa prq=6/6XA(Xp—xq)={ alp+B/p—v/q—d6/q for a=b=c=d=A
0 foraz2A&b#A&c+tA&d#A
(iv) FO D4y

(a) ER VY <FOX)=1>
oloxa FOX) = oF0(X)/6X + oX/oxa= 0

b) =27F45 2 <FO(X) =3—2sRap2 >
oloxa FOX) = oF0(X)/6X - oX/oxa
=2a * Jxa F1

() 27 F45 1 <FOX)=F0(p2Rs) >
dloxa FOX) = 0F0(X)/6X « 6X/oxa
= (a/p—1) - 1/2p)Vx, F1 for s=A
{ alp - 1/2p)Vxp F1 for s+#A

(o) zZHFE%y < FO(X) = FO( (pg/(p+@)V2Rpq) >
0loxa FOX) = r talp+B/p—v/q—8/q} - 1/(2p)Vxpq F1 for a=b=c=d=A
alp-1/(2p)Vxpq F1 for a=Ab#A,c#A,d+#A
(=9y/q) - 1/(@2p)Vxp F1 for c=A a#A,b£A,d#A



